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Marn 114: FaLn 2021 Quiz 4 (10PTS+4PTS BONUS) |

You may use your homework solutions. I need to look at your class notes while you take this. You are
allowed a 3z5 inch card of formulas. Thanks! Zpts per problem.

Problem 1: Simplify cos4lesinz +sindlrcosz, — 'jsiﬂ ("“x +X) = Sin ("‘l a)(] I

Problem 2: If a triangle has interior angles A = 10°, B = 50°, C' = 120° and the length of the side
opposite A has length o = 3 then find the length of side b opposite B and the length of ¢
opposite C. hini: use the law of sines.
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Problem 3: A triangle has side lengths @ = 2, b = 3 and the angle between sides a, b is 110°. Find the
length of the remaining side. hint: use the law of cosines.

Ci= at+ b*— dab e (10°)
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Problem 4: Solve tanz = /3 for = € {0,2#)
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Sef’(x]-—-yec(x): Sec(x) [.SeczK --I) = SecX Ton AL

fanix + ] = Sectx

Problem 5: Simplify sec® z + tan® z secz.

Sec’(y + Seclx)fra‘lx) = Sec (x)[scczb‘) + o z{’oj
= see(x) [4an?x + | +han?x]

= gec(,g][am’xﬂ _ (many wireaf  dngwesy A.aq)

cosIx +5ipix = | =» Snx~f T —or'x

Problem 6: Solve —2cos®x — 3sinz + 3 = 0 for x € [0, 2n)
A(sin?x ~1) - 35iax +3 = 0
Asin?x — 35X +| = O
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Problem 7: Solve sec® # = 4 for 6 € [0, 7).
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